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SECTION -1
General Knowledge and General Studies

1.  Which city was the capital of Kanishka ?
(a) Kabul (b) Peshawar (Purushpur)
(c) Multan (d) Lahore

2.  The Jain Tirthankar Parsvanath was the
(a) 24" Tirthankar (b) 25" Tirthankar  (c) 23" Tirthankar  (d) None of these

3. At which place Mausoleum of Shershah is situated ?

(a) Delhi (b) Sasaram (c) Agra (d) Multan

4. To commemorate which victory Akbar had constructed the ‘Buland Darwaza’ situated at
Fatehpur Sikri ?
(a) Ambar (b) Gujarat (c) Malwa (d) Kabul

5. Which one of the following is known as the Magna Carta of English Education in India ?
(a) Wood’s Dispatch of 1854 (b) Macauley’s Minute
(c) Charter Act of 1813 (d) Elphiston’s Report of 1823

6.  Who among the following had introduced the Permanent Settlement ?
(a) Lord Hastings (b) Lord Cornwallis (c¢) Lord Macauley (d) Lord Dalhousie

7. Which movement was suspended after the chaura-chauri incident of 5™ February, 1922 ?

(a) Khilafat Movement (b) Non-Cooperation Movement
(c) Civil Disobedience Movement (d) Quit India Movement
8.  Who is the author of ‘Garhrajyavamsha Kavya’ ?
(a) Molaram Tomar (b) Sudarshan Shah
(c) Bharat Kavi (d) Man Shah
9.  In the history of Uttarakhand ‘Manga Tax’ was related to which of the following ?
(a) Emergency Tax (b) Grazing Tax
(c) House Tax (d) Military Tax
10. In which area of Uttarakhand ‘Kham’ system was prevalent during colonial period ?
(a) Rawain (b) Tarai-Bhabar
(c) Jaunpur (d) Garhwal-Kumaun border areas
11.  Which one of the following is related to ‘Vishnupreet’ ?
(a) Land grant to Brahmans (b) Land grant to honour the brave people
(c¢) Land grant in the form of fief (d) None of these
12. Who presided over the first session of Kumaun Parishad at Almora ?
(a) Jay Dutt (b) Badri Dutt (c) Tara Dutt (d) Ram Dutt
13. In 1883, under whose presidentship a meeting was held at Almora in the support of Ilbert
Bill ?
(a) Sadanand Sanwal (b) Buddhiballabh Pant
(c) Hargovind Pant (d) Badridutt Pandey
14. Which of the following is a single user operating system ?
(a) Windows (b) MS-DOS (c) MAC (d) None of these
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A TH T O 385
1.  pfasp h TIUT 9 &1 TR AT ?
(a) A (b) R (TEUHL)  (c) Hed™ (d) WTER

2. SN iR qvETY o
(a) 24d AFHT  (b) 259 fifat (c) 23d cfiefert (d) T8 T ®1E T
3.  INE 1 Hehe] fopH TH W@ 2 7

(a) feeeht (b) & (c) PR (d) qod™
4.  HdgR Hwd fRd Fotg gramr o1 fmior srper 3 fora fosta & 3ueres o fopam o
(a) IR (b) TS ORISEL (d) HTea
5. Toaferfaa o & fpm wra o s e o1 fumesel AT ST 8 7
(a) 95U feuia 1854 OREISEIRECIURE]
(c) 1813 1 TR THK (d) TfeweeT e 1823

6. TfciRaad 4 & fora womft s o foma ?
(a) A dfE®m  (b) ASHHATE  (c) IS bl (d) TS ARSI
7. 5RGERT, 1922 hl - TeHT & Hela®y hd AT shi TATd o feam i 7

(a) TaatTha T=gre (b) 3THEAN AT
(c) i JTasT ATEIeH (d) WRA BI! FFEIeH
8. TGS 1T’ o viGeh i & 7
(a) HIEARA AR (b) ezl e (c) ¥Td i (d) AR
9. 3TEUS S 3fag™ H AN HU F=ifeifaa o @ fop & & e o ¢
(a) SATITASIAN L (b) TRITE T (c) T8 (d) BT
10. 3NUfETeh el O STREUS & fopd amT A @™’ ugfd J=tora off ?
(a) W3 (b) -
(c) SHY (d) eIt ~FHT: HIHT &
11, fompsfia frer & @ forod aafRa R 7
(a) SRV <! YfireH (b) IR =Rl o T 7g qfHeH
(c) SR % &9 YftrgH (d) 38 9§ g T
12. 3TcUIST H HHTS INNE YoM TREyH shi sreerdn fehem i ?
(a) SH¥ed (b) gted (c) drIed (d) THeA

13. 1883 T fopwrehl Sexeran H geard foel < THeN § STcHIeT § 991 53 off ?

(a) TEH=< &I (b) Fhgseay ud (c) BUMfa= ua (d) Sgied uIve
14. Tm=fafea @ 9 <9 91 T STTTHRAl TEEH A8 ?

(a) forg= (b) TH.UE. T (c) H (d) 3T & 73 T
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15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

Which one of the following important folk dance of Garhwal region is performed in the
courtyard of the house ?

(a) Jhora (b) Bajuband (c) Thadiya (d) Pauna

Famous folk song of Rawain-Jaunpur area in which groups of men and women sing the love
songs in the form of question and answer is called as

(a) Baju-Band (b) Choppati (c¢) Khuded (d) Chhura
At which place of Uttarakhand, the famous Jhoola Devi Temple is situated ?

(a) Kausani (b) Baijnath (c) Dharchula (d) Ranikhet
Which one of the following ornaments is not worn in the neck ?

(a) Gulbandh (b) Charyo (c) Tagdi (d) Hansuli

Read the following statements and select the correct answer :

1. Valley of Flowers is mentioned in Skand Purana as Nandan Kanan.
2. Valley of Flowers is located in the district of Chamoli.

3. Pushpaganga stream passes through the centre of Valley of Flowers.

(a) Only 1 is correct. (b) 1and 2 are correct.
(c) 2 and 3 are correct. (d) All 1,2 and 3 are correct.
Which among the following is not correctly matched ?
(Institution) (Establishment Year)
(a) National Development Council 1952
(b) Zonal Councils 1956
(c) Central Vigilance Commission 1962
(d) National Human Rights Commission 1993

Which of the following Article provides that the territory of India shall comprise the
territories of the States, the Union Territories and such other territories as may be acquired ?
(a) Article 1(2) (b) Article 1(1) (c) Article 1(4) (d) Article 1(3)

In which of the following Articles of the Indian Constitution does the word ‘Freedom of

Conscience’ appears ?
(a) Article 25 (b) Article 26 (c) Article 27 (d) Article 28

After the deletion of Right to Property as a Fundamental Right, it is now a legal right under
which part of the Constitution ?

(a) Part XII, Chapter 2 (b) Part XIII, Chapter 5

(c) Part XII, Chapter 4 (d) Part XIII, Chapter 3

Which section was inserted in the People’s Representation Act, 1951 to provide for
Electronic Voting Machines (EVM) in elections ?

(a) 66C (b) 63B (c) 61 A (d) 62B

Which one of the following period is known as the golden age of architecture in
Uttarakhand ?

(a) Kunind (b) Katyuri (c) Parmar (d) Chand
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15. TR A H GrATfed g Te TeaTe & %1 HE Ul Aleh-Jcd FHHfigd § A pH a1 R 7
(a) ST (b) ST[s< (c) oA (d) dtom
16. T@E-SHY & ° Uftg elep-fia, foraw afgem 3 gew Tgl & ued 3m 1 Jed 31 ST & §
MY AT 8, haEeATdl &
(a) S5 (b) Brut (c) TG (d) B
17. STEUE & form T W ufhg gon ot afer fa 2 7
(a) T (b) S (c) YT (d) TfEa
18.  T=forRaa & @ o @ 3w el # e T fR ST 2
(2) TeTeIG (b) = (c) @ (d) &geit
19. FrfcTiaa el bt afed a2 Tt STl I
1. el Sl ST T U Toheg GUOT H TG A h AW H 7 |
2. gl shl =TE SUG =T H e 7 |
3. ST R el shi Y % Hed W Yerrtad Bl § |
(a) FaA 1 TAZ | (b) 1TW2HIZ |  (c) 2W3TIE |  (d) aft 1,20 387 |
20. Frfefaa @ @ 5 @ gafea T8 8 2
(ee) (¥ =)
(a) TS forepma ufteg 1952
(b) &= afitwe 1956
(c) THgIT FeehdT T 1962
(d) TSR HHETRRR 3T 1993
21. T 8 3 o1 O 3=8¢ I8 TEuH il 2 foh TRd & Tsaed § T o T, T6 Tsae
qAT U 37 TS &1 SMHSA B, ST 37191 fohT AW 2
(a) IFWL1(2)  (b) FTWE 1(1) (o) FTWR1(4) () FT=T 13)
22. WA Efqae & e 3 @ e srgese o *37d oo Y Tdadr Tise TR 7
(a) IT=WC25  (b) 3TTTHE 26 (c) I=_E 27 (d) 3= 28
23.  Tifoeres ARIPR % w9 H Traf & 1fUwR 1 8H & 91e, I8 A GiIuM & fhH 9 & =i
e faftre stRer R 2
(a) T X1, 3151 2 (b) T XIII, LA 5
(c) W XII, 3197 4 (d) | XIII, 3= 3
24, AN B oraieh AT B (EVM) o ST fohdl M 7q, Sufafiee tfafwm, 1951 9
I H G AL TS ?
(a) 66C (b) 63B (c) 61 A (d) 62B
25. Trferfea @ @ fora 1et 1 STATREUE T TATIRT AT T Tavl I g1 ST 8 7
,,,,,,,,, @ B (k) el o 0 @F=
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26.

27.

28.

29.

30.

31.

32.

33.

34.

3S.

36.

On the basis of 2011 Census data, which of the following States of India has highest
population density ?

(a) Kerala (b) West Bengal (c) Uttar Pradesh (d) Bihar

The percentage of senior citizen age group (above 60 years) in India was 5.1 percent in the
year 1901, it increased to what percentage in the 2011 Census ?

(a) 10.3 percent (b) 9.5 percent (c) 8.4 percent (d) 11.5 percent
Which one of the following glaciers in India is the longest glacier ?

(a) Gaumukh glacier (b) Siachin glacier

(c) Biafo glacier (d) Chango-lungma glacier

When the New Industrial Policy with several liberalized measures was implemented in India ?
(a) In 1985 (b) In 1991 (c) In 1998 (d) In2004

Which one of the following policy was made to maintain harmony between environment
and development in India ?

(a) Environmental Policy, 2008

(b) Environment and Development Policy, 2006

(c) Environment Policy, 2005

(d) None of these

Rajasthan Canal has been drawn out from which of the following place ?

(a) From Bhakra-Nangal Dam (b) From Harike Dam

(c¢) From River Yamuna (d) From River Satluj

When was the mineral oil discovered in Bombay High area ?
(a) In 1975 (b) In 1976 (¢) In1977 (d) In 1978

Which one of the following districts of Uttarakhand has lowest literacy rate as per 2011
Census ?
(a) Haridwar (b) Champawat (c) Almora (d) Dehradun

Which one of the following pairs is not correctly matched ?

(a) Rajaji National Park — Dehradun, Haridwar, Pauri Garhwal
(b) Govind National Park — Uttarkashi

(c) Askot Wildlife Sanctuary — Pithoragarh

(d) Binsar Wildlife Sanctuary — Dehradun

Balcha Pass connects

(a) Chamoli-Tibbet (b) Chamoli-Uttarkashi

(c) Chamoli-Pithoragarh (d) Pithoragarh-Tibbet

Which of the following is not mentioned as a subject under the Eleventh Schedule of Indian
Constitution ?

(a) Water management and watershed development

(b) Improvement and upgradation of slums

(c) Technical training and vocational education

(d) Public Distribution System
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26. T 2011 3 SHUMET % 3MTehel o YR T 9YRA & = § & fobm U= | waifers Sa@ o4
37
(a) B (b) wfeeH STt (c) e (d) fogm
27. WRA H gy AT 31 ot (60 oY @ 3tferen) st ufesrd ad 1901 ® 5.1 ferwra o, 718 2011
SO | S@eht foha Tfererd &1 T ?
(a) 10.39fas@ (b) 9.5 wfawrd (c) 8.4 gfasrd (d) 11.5 gfaera
28. WA & fFferfaa femcl & @ gaffees o aren feme s @ g 2
(a) @ fewe  (b) frEntm g (o) Tl femee (d) =Fm-om faee
29. IERIHTUT o 31 JURIT o |1 WA | 7 3Treifies Hifd e v g8 7
(a) 1985 (b) 19911 (c) 1998 T (d) 2004 T
30. fy=faRaa o & @M =t ifd wra H§ qaiere 3 fow o o9 avee w@H gg SRt W= 7
(a) ATEROT Fifd, 2008 (b) "TeRr ue feem i, 2006
(c) wateor Hifd, 2005 (d) T8 9§ g T
31. ToRYH TEtH A § 4 forg @ e mn g ¢
(a) WTEST-HTS §1g | (b) TR ST A
(c) I (d) Taerst I |
32. IS B8 &1 H @S ot 1 Idl e o ?
(a) 19754 (b) 1976 T (c) 19771 (d) 1978 1
33. SUMET 2011 % STHER, IAUEUE % fefafad Sugl & & forg Siug | derar @t <Eau & 7
(a) BREN (b) =HTEd (c) FreHTeT (d) <@gy
34. Tfafga o & =8 o1 v I v gafea T8 8 2
(a) TISITST ¥ qTeh — GaIG, BHGN, TEI-TeaTd
(b) TNifere ITHA UTeh — STLHIA
(c) 3TEhIE TI-ST JIYIRTT — fUairTg
(d) ToreR sl ST — Satigd
35. STl Sedi e :
(a) =N —fossa (b) =@l — ITHRA  (¢) =@eh — fughme  (d) T - fossa
36. T 8@ o o fawg vy wfaem 6 mmedt sy 3 afvta 7 8 2
(a) ST Y& TR STt farsies &1 o1 foeprd o
(b) S-SRI IR qAT 37
(c) TehTeh! TTIT&T0T QT AT f1eq
(d) Hreseh ferawor yurredt
e S TS




37.

38.

39.

40.

41.

42,

43.

44.

45.

In which of the following districts of Uttarakhand, ‘Raji’ tribe is found ?

(a) Champawat (b) Uttarkashi

(c) Udhamsingh Nagar (d) Haridwar

According to 2011 Census which one of the following district of Uttarakhand has the lowest
number of female population ?

(a) Champawat district (b) Bageshwar district

(c) Chamoli district (d) Pithoragarh district

During the Census period 2001-11, which district of Uttarakhand recorded the highest
percentage rate of population growth ?

(a) Haridwar (b) Dehradun

(c) Udhamsingh Nagar (d) Nainital

Which of the following group of districts in the year 2020-21, was the leading producer of
sugarcane in Uttarakhand ?

(a) Haridwar, Udhamsingh Nagar, Dehradun

(b) Haridwar, Dehradun, Bageshwar

(c) Dehradun, Udhamsingh Nagar, Chamoli

(d) None of these

Shailesh Matiyani Award of Uttarakhand Government is related to which of the following ?
(a) Rural Livelihood (b) Primary and Secondary Education

(c) Skill Development (d) Health and Family Welfare

As per Land Use Survey (LUS) 2009-10, what was the percentage share of cultivable land
to the total reported area of Uttarakhand ?
(a) 20 percent (b) 18 percent (c) 14 percent (d) 25 percent

Badrinath is a main centre of which of the following cult ?
(a) Nath cult (b) Vaishnavacult  (c¢) Shaiva cult (d) Pashupath cult

As per Census 2011, rural-urban population percentage ratio of Uttarakhand is
(a) 72.85:27.15 (b) 66.85:33.15 (c) 69.76:30.24 (d) 78.75:21.25

Government of Uttarakhand is working on how many Sustainable Development Goals
(SDG) ?
(a) 17 (b) 15 (c) 10 (d) 14

46. From the following which are the places of Uttarakhand, where rail line is under construction
in recent years ?
(a) Rishikesh - Karn Prayag (b) Haridwar - Dehradun
(c) Dehradun - Rishikesh (d) Dehradun - Kathgodam
47. Veer Chandra Singh Garhwali Yojana of Uttarakhand Government is related to
(a) Army (b) Women Power  (c¢) Self employment (d) Handicraft
48. Which one of the following rivers separates Uttarakhand from Himachal Pradesh ?
(a) Kaliriver (b) Sindhu river (c) Tons river (d) None of these
— _— B



37. Tfafea o @ foa stimave S & e ST fierdt @ 7
(a) =wTEd (b) STTHIA (c) Suwflg TR (d) =fgr
38. 2011 SHITUMT o IER f=fciiad # @ ITrave o fohg SiUg ¥ Afgcttati hi S o &
27
(a) OTEA UG (b) SIYE G (c) =T SHg (d) TeRmTg SHUq
39.  SEIUAT 2001-11 1 3TafY § ITARAVE o Tohdl UG H SHEREAT Jig Tfowrd € ga 371 off ?
(a) BNGR (b) <& (c) 3gHE TR (d) Tt
40. Tr=fTfaa § | S A1 TGS 1 SHIE Tg a¥ 2020-21 H T 3T 310 IcaTeeh AT ?
(a) BNGR, 3uml¥E TR, Gaugd (b) BNGR, G8TGH, THITER
(c) SBUIEd, SUHIHE T, =Hel (d) 3T 8 S el
41. ITEUES TR h1 Icre AR [ehR =1 7  fopms gafea g ¢
(a) TTHOT SATSfiferRt (b) erfes Td ATeAfies f3rem
(c) iy fahrd (d) e Tg URER e
42. ITEUE T Y ITANT T (TA. Y, TH. ) 2009-10 o ITER, Het Ufcrafea & 1 feran ferra
T iy 2w yyfiy whr o 2
(a) 20 gfasa (b) 18 Ffasma (c) 14 wfasa (d) 25 gfasa
43. gy fafafga i frmur mge g 8 2
(a) YUY (b) oG Y (c) ATUY (d) w=[Ud 9
44. SFUAT 2011 % STTER, ITRGUE hl ATHIUI-IE TG 1 Tfw1d 39 &
(a) 72.85:27.15 (b) 66.85:33.15 (c) 69.76:30.24 (d) 78.75:21.25
45. ITEUE TIHR foha- Haq forehra et (Ta.Sf.) Wl w2 7
(a) 17 (b) 15 (¢) 10 (d) 14
46. ITREUS TS H gTA o a¥1 # i o | fob w1 W 3t <1ga o1 frwior fepen s @n 2 9
(a) YR — HUTTAT (b) ENGR — q&Tgd
(c) SBUGH — vkl (d) <BUGH — HISGH
47. IACEUE TLHR h! fR =5 48 Tearel! ATSHT Feiea 2 :
(a) & (b) g Wk (c) TR (d) TEfRred
48. Trafafea # 9 #5978 saUEve #1 feurae T 9 e i ® 7
(a) refl 7 (b) foryg = OREEE] (d) 3T & 13 TE
S R T e




49.

50.

51.

52.

53.

54.

5S.

56.

57.

58.

59.

60.

61.

Shweta Verma, who has been a member of India’s National Women Cricket Team is
associated with which district ?

(a) Udhamsingh Nagar (b) Haridwar

(c) Nainital (d) Pithoragarh

Who is the Chief Justice of Supreme Court of India ?

(a) Shivkant (b) D.Y. Chandrachud

(c) N. Koteshwar Singh (d) Subroto Banerjee

Koteshwar Dam is situated in which district of Uttarakhand ?

(a) Almora (b) Tehri (c) Pauri (d) Chamoli
Tigmanshu Dhulia is associated with which of the following field ?

(a) Cinema (b) Painting (c) Music (d) Humanities

Yoga guru Baba Ramdev was born in which State ?

(a) Uttarakhand  (b) Haryana (c) Uttar Pradesh (d) Bihar

Which Indian State tops the list in School Education Quality Index in the latest Niti Aayog
report ?

(a) Uttarakhand (b) Haryana (c) Kerala (d) Himachal Pradesh

The present age of A and B is in the ratio 5:3. After four years if the ratio of their ages will
become 3:2, what is A’s present age in years ?

(a) 20 years (b) 30 years (c) 40 years (d) 50 years

Sachin scored 125 runs in an inning which included 3 fours and 8 sixes. What percent of his
total score did Sachin score by running between the wickets ?

(a) 45 (b) 50 (c) 52 (d) 55
Find the misgszing number :
8
8| 4 16 |?
2
32
(a) 32 (b) 64 (c) 128 (d) 8

% 150 are divided among A, B, C such that A’s share is ¥ 20 more than B’s and ¥ 20 less
than C’s. What is B’s share ?

(a) %20 (b) %30 (c) %40 (d) 50

If + means +, x means —, = means x and — means +, then the value of 8 + 6 x4 + 3 -4 is
1 20

(a) 10 (b) —5 (c) 12 @ -3

A man ate 100 bananas in five days, each day he ate 6 bananas more than the previous day.
How many bananas did he eat on the first day ?

(a) 6 (b) 8 (c) 7 d 9

Where is the Central Building Research Institute situated in Uttarakhand ?

(a) Dehradun (b) Roorkee (c) Almora (d) Haridwar
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49. WA ! TS HigeT fsrehe O 1 Hewa W, vadt o fore Tl & geifad @ 7
(a) ITMRAE TR (b) BHER (c) =t (d) faeimre
50. WRA % IIqH T o &I ARMET A 8 ?
(a) Taraepia (b) TR T5EE  (c) T HIvRTHE  (d) geral S=A
51. TGS o fhH forel T Iy wier (30) fRa & 7
(a) JHIST (b) Tzt (c) et (d) =meh
52. ey yferan foem o @ fopm 81 @ weftra B 7
(a) Taamm (b) ufém (c) &fta (d) TTfereht
53. T % ST THCH 1 STH ohH TS 1 g3 ¢
(a) IATEUS (b) sfamn (c) IR I (d) feoer
54. 11 & <t e 3mman A fatd 7 v o 9 w1 ve Tt e moren g=h § wed Sw R
(a) TGS (b) BT (c) T (d) Temmeet wem
55. A 3T B %! I8 3T 3T U 5:3 7 | A TR AT 1 3T 311 T STUT 3:2 B ST 2,
A 61 IaHH 3T 99T § fohat g 7
(a) 2099 (b) 30 a9 (c) 409 (d) 50 =9
56. |feA A T IR H 125 WS¢, fFaH 3 =ik 3T 8 Tk IMHA o | Tfe = 3197 A ThR
feram wfcrsra =R feorehel & i Siget ST ?
(a) 45 (b) 50 (c) 52 (d) 55
57. faq @@ 9 i
32
8
8| 4 16 |?
2
32
(a) 32 (b) 64 (c) 128 (d) 8
58. TIS0MA,B,CHs A favvafrn s e A e Ba 2 20 o qen C @
320 H B | B 1 faem fepa 2 7
(a) Z20 (b) T30 (c) T40 (d) 50
59, e+ R AT+, x I IT — - H I < M -_FT AT+ B, W8+ 6x4+3 - 4HAAR :
@ ~10 ®) -3 © 12 @ -2
60. Teh kA 5 el § 100 et @, T e 397 U8 T T 6 vt 37T @R | 39 Ik o U
feq fopam et @l 2
(@ 6 (b) 8 () 7 d 9
61. STUGUS H g Yol STTHY HEIH gl (RAq B 7
(a) B (b) ®Seh! (c) FreHren (d) BhER
o I e e T




62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

Optical fibres work on the principle of
(a) Total emission (b) Total absorption
(c) Total reflection (d) Total internal reflection

Which of the following is not a semi-conductor ?

(a) Ge (b) Si (c) GaAs (d) Al
The soap bubbles are appeared coloured due to which of the following phenomenon ?
(a) Interference  (b) Diffraction (c) Polarization (d) Reflection

Gypsum is obtained when :

(a) Plaster of Paris is mixed with acid.
(b) Plaster of Paris is mixed with base.
(c) Plaster of Paris is mixed with water.
(d) Plaster of Paris is mixed with salt.

Which part of our body filters the dirty blood ?

(a) Heart (b) Lung (c) Ureter (d) Kidney
Which one of the following layer of the atmosphere is nearest to earth surface ?
(a) Troposphere (b) Exosphere (c) Stratosphere (d) Thermosphere
On which part of the human eye the image of any object is formed ?

(a) Cornea (b) Iris (c) Pupil (d) Retina
Which of the following is called the energy currency of the cell ?

(a) Oxygen (b) ATP (c) Mitochondria (d) Nitrogen
Which of the following vitamin is soluble in water ?

(a) Vitamin A (b) Vitamin B (¢) Vitamin D (d) Vitamin E
Why firewall is used in computer ?

(a) Monitoring (b) Data transmission

(c) Authentication (d) Security

The full form of URL is :

(a) Uninterrupted Resource Locator (b) Uninterrupted Record Locator

(¢) Uniform Record Locator (d) Uniform Resource Locator

Identify which is not a networking device.

(a) Switch (b) Traffic analyzer (c) Bridge (d) Router
Identify among the following servers which allow LAN users to share data :
(a) Communication server (b) Point server

(c) Data server (d) File server

The chemical formula of laughing gas is :
(a) NH, (b) NO, (c) N,O (d) N,O,

PTR



62. T A HI HLAT 7

(a) P I & g W (b) A AT o g W

(c) e T o g (d) HoT SATATh T o g W
63. T T HT a1 TF TR TE R ?

(a) Ge (b) Si (¢) GaAs (d) Al
64. TS % goreel (et § B ford Tfshar o o T femms 2 & 7

(a) SAfdeRTOl (b) Terad= (c) gatehtur (d) TEdq

65. T g fepan StraT 2 9@

(a) TOITER 3ATH UNH o1 370 o T T ST 2 |

(b) AT 3ATH YT = &R o G1 T JTar 2 |

(c) TITERX 3ATH U ol UTht o T Fetr SITan 2 |

(d) AT 3T YT =hi THeh o A1 AT ST 2 |
66. FHR YT ST i TT W 7w, Th <1 N HLAT 8 7

(a) & (b) ®wel (c) T (d)
67. T4 @ agred Ht wF = v wa et hi Tz * fepean 7 ¢

(a) HTER (b) THEIER (c) HIEHR (d) omTEheR
68. Torelt ag o1 ufdferar ws Y 31f@ & fehg YT AT 2 2

(a) T (b) 3R (c) et (d) e
69. T4 @ fora spifirent it ot g T AR ?
(a) AT (b) @i (c) HTEIITgaAT (d) eI
70. = 5 @ & A foaafin 9o | gerefia g ¢
(a) foerfim (b) faerfim ft (c) faefm CRECIEEH
71. I H BRAGTE 1 STAM FT a1 118 ?
(a) Trmrft (b) ATheT TEe (c) SHTOfieRTuT (d) gran
72. A IRTA R EIR :
(a) 3MZILS TEE eAleheX (b) 3TELE f&hiE bt
(c) IfwiH fepte Areher (d) IfeTH ferd frehet
73. 3 UEHTU ST Ueh Heaoh fSaTsd T8 & |
(a) = (b) fthe TAETESR (c) Toral (d) T
74. Treferiea @dt # @ vg=m ® S AT (LAN) SUMITehdiaT bl ST ETe i shi 3TAfd ¢ar & -
(a) HER He (b) forg &R (c) SAHHR (d) s HeX
75. B9 arelt {9 1 TEEe g R

(a) NH, (b) NO, (©) N,0 (d) N,0,
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76.

77.

78.

79.

80.

81.

82.

83.

84.

8S.

86.

87.

@ ug -2

w R
EEACARDIDCICTR A
(a) SSUTIT (b) =ThUTIT (c) S[eTdTIT (d) TmTeRuTor
“STEh AU #h1s GO A 81 JTRIT o T7T Toh G 3
(a) 3T (b) st (c) g (d) 3T
FraforRaa o @ 19 a1 visg “a1ger’ 1 e T8 ® 7
(a) Sfefg (b) e (c) T (d) =rifey
TR T HISTS | TE=T S Heh aTernist o foft Th T 2
(a) 3T (b) giH O (d) getw
“feherden ferge’ wreg o1y faferfiaa o & fepe e & foru 3uaeh @ 2
(a) ST HH A 3EHL B | OREEEFRER N
(c) HIT L, AT HhL i T:TRafd | (d) & fvia o9 1 IS HSE T 8 |
“ ST FHT AT ISAT 37 1 Tohe i AT TaTa 2 :
(a) & T H 1 & | (b) S T = ol Shaldl H I |
(c) HTE-HTE T I T | (d) TR ITC Q1 AT, STHHAT ¢ 1 A |
T TG 3TET Gra1eH ol Hiod i o fore Fraforfeaa # @ fora fag =1 sl R smar @ 2
(a) : (®) ; (©) - (d) !
ToT@d T ¥ T 316G AT To@uT 3l SIS o 7T &Te T 9ol 95 (1) <l el STl &
(a) ST (b) EUe (c) (d) frcern
T &1 foeim s 2
(a) W& (b) H&w (c) Bl (d) ©g
Frafefea § <ieite’ 2 :
(a) R feherT | (b) ITrEedt ¥ o e |
(c) it Teret 7 freft STt | (d) 3 T &EAT |
‘W‘@ﬁ’mﬁ@ﬂw%:
(a) T (b) Wt (c) TEE (d) s
freifera & <arnfe’ v af =1 3gE 2

(a) Iromeff (b) 35 (c) feadt (d) TIH




88. “Yieh’ Yo W HH HI TR ?
(a) STfqaTas O (b) Afhar=s @1 (c) TUgarEh axl  (d) Fears a3
89. “femmor @ fAffa am g 2

(a) A (b) TTEHTH (c) wefht (d) frem
90. WA =T e TRTeR 1 T fferfiga # & forg aref d g @ 7

(a) WTE-sTeftorTag (b) = Rl b1 Fg

(c) 3TATHTRSeh Tl < |3 (d) St SARBAT T T
91. Frefafea i a a1 wg adt F g T g 2 7

(a) woRd (b) @ (c) 3Faeai (d) g
92. ‘&’ 3N ‘T8’ Tl I IHNUT T % YN T forg o1 & T ST @ 72

(a) 3fcerd (b) wfedes (c) Hordt (d) wehfya
93, H T HETYT el TE 2

(a) ¥ (b) ® (c) ¥ (d) ©
94, ITIATRIH IO TR B :

(a) & (b) 1 (c) = (d) 7
95. fferfiaa & @ i o1 vrsg 3yl 3 T S & At & ffifa R 7

(a) BT (b) ASEE (c) Toprs CORILEED
96. TrfeIiad @ & “dgwe’ 31eg T TFH HIFT

(a) TR (b) 3wt (c) ot (d) waft
97. ‘WU oG 3H § fohE I H1 7 ?

(a) ¥ (b) fereft (c) dgwd (d) deeH
98. ffeafga @@ deom s ? :

(a) Firg (b) “&t (c) ®a (d) T8
99, ford ATHIR UG § TFe-Y Icgey T8l & 7

(a) wEE OIESUIS] (c) IR (d) @i

100. T 9T | T GFT° — 36 916 § i |1 o1 3 ?
(a) TIoreTas gdam (b) TrE-gETes G (¢) FyaaarEes qaqam (d) I3 gaad
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